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(hwqun npwdny)

Snnh 3nnwéh | CGnwdkGp wjn pynid’
Glwinwunbuwlylb
NN 4 Lotino NN (u.5+u.6) qujnguquJU $nlnwyhl dwu
1 2 3 4 5 6
1000 pLIuUBLE BYUUNnEsLer (wnn 1100 + winn 1200+wnnn 1300) 10107.8 |1 10107.8
wjn pynd’
1100 |1.3UPyLr 6d SNHPRGN 7100 X
(ninn 1110 + winn 1120 + winn 1130 + winn 1150 + wninn 1160)
wyn pyntd’
1110 (1.1 Qnupuyhl hwpybp wizwnd gniphg 7131 1259.8 | 1259.8 X
wyn pyntd’
1111 9nupwhwnl hwiw)GpGtinh yupswlwl nwpwéptinnid qunbynn 2GGptnh L 2hGnipyntGatinh hwdwn 35 3.5 X
1112 3nnh hwpy hwiw)Gpbtph Jwpswlwb nmwpwépltipnid gunGynn hnnh hwdwp 1256.3] 1256.3 X
1120 | 1.2 Qnijpwjhl hwplbp wy qnyphg 7136 X
wyn pyntd’
1121 Qnupwhuwnl thnfuwnpwihengltiph hwiwp 498.7 498.7
1130 |1.3 UypwlpGlph oguwgnnpédiwG Ywd gnpénilinipjwl hpwywbwgdiwh pnypnynipyjwl yawnGlip 7145
wyn pynd’
1131 Stnwywh wninipptip 71452 X
(nnn 1132 + winn 1135 + winn 1136 + wninn 1137 + wnnn 1138 + winn 1139 + winn 1140 + wninn 1141 +
winn 1142 + wnnn 1143 + wninn 1144+wnnn 1145)
w)n pyncd’
1132 w) Iwdw)lph nmwnpwdpnid Gnp ptGptinh, 2hGnipyntbGbbph (GEpwrjw) ng hhiGwyw) %
2hGwnwnnipinth (nnwnndw) pncndnipiwG hwdwn (nnn 1133 + wninn 1334),
nphg’
1133 wuw) Ipdbwywb 2hGnepyniGbtph hwdwn
1134 wp) Ng hhdGwywh 2hGnipyncGlGEph hwdwp
p) 3wdw)lph Jupswywb tnwpwépntd 2tGptph, 2hGnipniGGtph, punwpwhGwlw w)g
1135 opjtywnGtph ypwhwrenigdwl, nidbnugdw, yipwlywbqbdwl, wpnhwlwlwgiwh X
wfuwwnwlplbp (pwgwnenipjwdp 33 opbilunppjwip uwhdwOdws® 2hGwpwpnipjwb
poindnipini0 swwhwGodnn nbwpkinh) bwwwnbint poiyndnipiwl hwdwn
1136 q) Iwiw)lph qupswlywb tnwpwoépnLd pt0ptiph, 2hGnipyniGGlph, pwnwpwhGwywb w)p %
opjlwnGtph pwlniw pnijjnynipjwl hwdwp
n) Iwdw)lph nwpwépntd nqbithg futhsptinh L (Ywd) Sfuwfuninh wpwnwnpwlph Jwdwneph, huy
1137 hwGpwyhG uGtnh opyblnGtpnud natiihg fushspltinh L (Ywd) Suwfuninh wpwnnpwiph hpwgdwd 45.0 45.0 X
poijjndnipjwl hwiwnp
1138 ) Swdw)lph nmwpwépntl pwgopjw Jwdwnep Yuqiwybpwbint pnyinydnipjwl hwiwnp X
q) Iwdwjlph nwpwdpntd htinniy Junebhph, wnbuGhywywb hbnnybtph, hbnniywgywé quigbinh
1139 Gwlpwéwfu webinph Yawnbpned hbnniy Junbihph, nbhluGhywywh hennwyGhph, hennijugdwd X
aqwabiph Jwdwpeph pnijjndnipijwl hwiwp
k) Jwdwylph wwpwépnid webinph, hwbpwihG uGanh, gupdwbph, zwhniiny fuwntipp b
1140 yhswywfuwnbph Yuqiwytpwiwb opjtiynGlipp, pwnbhpltpp (uwniGwbbpp), fuwnwwnGbpp dwip X
24.00-hg htinnn wfuwwnbiint pnijjndnepjw hwiwn
1141 p) Iwdwpwnwpwjhl YwanbGpht hwiwwwwnwufuwb bpbwb pwnwph b pwnwpwjhG X
hwiw)GpGbph wwpwdépnid plGuwbh YeGnwdhObp wwhbine pnijjunygnipjwl hwdwn
1142 p) 3wdwylph tnwpwdpnid wpunwphb gnjwgn nbnwnntint pnypnynipjwb hwdwn
1143 d) 3wiwjlph wptuhdhg thwunwpnpbinh wwwnsklbp L YnyhophGuybbp npwiwnpbint hwiwp X
1144 dw) Iwiw)lph nwpwépntl (pwgwnenipjwip pwnwjhl hwiw)bGplbiph) dwpnwwnwp twpunt X
(pwgwnnipjwip tppninwihG nwpuhlbiph) Swnwjnipintld hpwywbwglbnt pnyjpnygnipjwb hwdwn
1145 dp) Pwllywnpdtip vGwnwnlbphg Wwwnpwunywé hptiph dwlpwdwfu wrnijwdweph pnynynipjw
1150 |1.4 UwypwipGbph dwwnwlwpwpniohg b dwnwjnipyntGGhph dwwnnigniihg wy) ywpwwnhp yGwpGbp 7146 X
wyn pyntd’
1151 Swdw)lph pynieb Ydwnynn whnwlwhb ninppbip X
(ninn 1152 + wninn 1153)
wyn pyncd’
w) Rwnwpwghwlwh Yugnipjwl wyntin gpwbgbint, npwbg dwuhl pwnwpwghltphG ypybwyh
1152 Jywjwywatp, pwunwpwghwlwh Yugnipjwl wynbpnid juwnwpwé gpwnenilbpned X
thnihnfunipintGGtip, pwanidGlip, ninnnidGbin bwwnwpbine b yGpwbwbabiwb bwwwbgnipiwdp
p) Lnunnwpwywh gpwubtbywybtph Yynndhg Gnunwpwlwh SwewnipnLGGtp Yuwnwpbne,
1153 Gnunwpwywb Ywpgny Juybpwgywé thwunwpnpbinh Ynybophbwybbp tnwine, Gowé X
dwpuhGobph Ynndhg gnpéwppltinh Gwiuwqdtp L nhdinwdGbp Ywgubine, thwuwnwenptiph
wwwnsbltn hwibint b nnwbaha pwndwoépObn wwint hwdwn
1160 | 1.5 Uj. hwpluwjhG GYwidninGbp 7161 X




(hwqun npwdny)

Snnh 3nnwéh | CGnwdkGp w)jn pynid’
Glwinwunbuwlylb
NN 4 Lotino NN (u.5+u.6) Jupswlwl | $nGnwyhl dwu
1 2 3 4 5 6
(nnn 1161 + wninn 1165)
wyn pynd’
1161 Ontlpny whwmwlw pjniot wipwanuynn hwpytiphg L wjp wwpwnwnhp ydwplbphg dwuhwnudbtip X
hwdiwiGeltinh pinwobilin (nnn 1162 + ninn 1163 + winn 1164)
nphg’
1162 w) Bywinwhwny X
1163 p) Cwhnipwhwpy X
1164 q) UjL hwpybiphg L wwpunwnhp ydwnpbbiphg Yuwnwpdnn dwuhwnidGep X
3nnh hwpyh L gniypwhwpyh qény hwdw)lph pyneb ydwnpnidlbiph plwqwywrentd pugwhwjindwé
1165 hwnplwyhG optiGunpnipjwl fuwfuinniiGtph hwiwnp hwplywnnibtphg qubddnn nnydtin L X
winiqwlplbn, npnGp s66 hwodwplyynid win hwpytiph gnidwnGbiph Gwwndwdp
1200 [2. MUGSNLUYUL APUVUSLNANILED 7300
(ninn 1210 + wnn 1220 + winn 1230 + winn 1240 + wninn 1250 + wnnn 1260)
wyn pyntd’
1210 2.1 LGpwghy wpnwphl wwwnnlbwlywh npwiwGnphlbp’ unwgywd wy) whwnnpynLGlbphg 7311 X
wyn pyntd’
Swiwjlph pjniob dntinpwagnpynn wpnwphl wwunnbwywb npwiwbnphlbn” unwgywd wy)
1211 whinnipyntGObph nbnulwb hGplwywrwjwndwb dwpihGGtphg pGpwghly dwiuutiph X
Shlwbuwdnniwlb Gwwwnwyny
1220 |2.2 Ywwhww| wpnwphb yuwunnGulwb npwiwinphGbp” unwgywé wy) whnnpynllGlinhg 7312 X
wyn pynd’
Swdw)lph pynieb dntnpwgnynn wpunnwphl wwnnGwlywl npwdw0nphlbn” unwgywé wy)
1221 whwnnpyntGatiph wnbnwywh hGplwywnrwywndwb dwpohGatphg Yuwhww) Swiuubiph X
dhlwGuwdnniwh Gwwwnwbny
2.3 LhpwghYy wpwnwpht wyuwwnnGwlw npwiwinphGbp” unwgqwé showqquhh
1230 7321 X
LbwadwltnwnieinLGGnha
wyn pynid’
1231 Swiwjlph pjnieb dntinpwagnynn wpnwpht wwunnbwywb npwiwlnphlbn” unwgywd %
Uhowgquh YwgiwytipwnipiniGatinhg pGpwahl dwiuutinh PhGwbuwynpiwb Gywinwbny
2.4 Ywwhwnw| wpnwph wywnnGuwywl npwiwinphGbp” unwgywé showqqu)hb
1240 7322 X
YwqgdwlbtnwnipinLGGbinhg
wyn pynd’
1241 Swdw)lph pynieb dntnpwgnynn wpunwphl wwwnnbGwywh npwiwlnphlbp® unwgywé X
dhowgawih0 ywgdwybpwnipintbatiphg Ywwhww) dwhuubph $howluwynpiwb Gwwwnwyny
1250 2.5 Lhpwghy Gpphl wwwnnGulw npwiwinphlbp” unwgywé Yunwlwpiwb wyp 7331 7416.3 7416.3 X
twlwnnwlGtnhg
(nnn 1251 + wnn 1254 + wnnn 1257 + wninn 1258)
nphg’
1251 w) MEnwywh pjniebihg h0wluwlwb hwiwhwnppligdwb ulygpnilpny npwdwnpynn nnuinwghwbn X
1254 p) Mnwywa pynietihg mpwdwnpynn wyp nninwghwbbip
wyn pyntd’
pw) 3wdw)lph pyneobih GHwdninGtipp Gwabtiglinn™ 33 optilplbph Yhpwplowb wpnynilpnid
1255 hwiwylph pjneotih GYwdnunGlph YnpniunGbph wtwnnipjwb Ynndhg thnfuhwwnnigynn X
antiwn0bip
1256 pp) wjl nnnnwghwtip X
1257 ) Mbnwywh pjnipbihg npwiwnpynn Gwywwnwlwihb hwinbuwgniilbp (unipytbghwtip) X
1258 n) 33 wj| hwiwyGplbph pjniptiltiphg plpwghly dwiuutiph $hlwbuwynpiwh Guywnwyny unwgynn
wuwywnnlwlwb nnwdwbGnnhGEn
nnhg’
12 Gplwb pwnwph hwiwpwnwpwihb Gowlwynipjwl dwiuubph $hlwbuwynpdwb Guwwnwyny
59 X
AdLwynpywé vhonglbiphg
2.6 Ywwhwnwy Ghipph0 wwawnnlwywh npwdwGnphltip’ unwgywéd Yurwywpow wyp
1260 7332 X
twbwnnwlGbnha
(nnn 1261 + wnn 1262)
wjn pyntd’
1261 w) MEwnwlwh pjngbhg Ywwhwnwy swiuutiph $hlwbuwynpiwb Guywwnwlwihlt hwnlwgnidbp X
1262 p) 33 wy| hwiw)bpltphg Ywwhwnw| swiuubph $hlGwbuwydnpiwb Gwwwnwyny unwgynn X
ww>nnbwlwb nnwidw>bnnhGtn
nphg’
1263 Gpluwb pwnwph hwiwpwnwpwjhG Guwlwynipjw dwiuubph $hawbuwynpiwb Guwnwyny X
dlwynnywé dhonglbinhg
1300 |3. USL tuUuUNFSLEN 7400
(ninn 1310 + winn 1320 + wnn 1330 + winn 1340 + winn 1350 + wnnn 1360 + winn 1370 + winn 1380)
wyn pynd’
1310 |3.1 Snynultip 7411 X




(hwqun npwdny)

Snnh 3nnwéh | CGnwdkGp w)jn pynid’
Glwinwunbuwlylb
NN 4 Lotino NN (u.5+u.6) Jupswlwl | $nGnwyhl dwu
1 2 3 4 5 6
wyn pynd’
1311 Ontlpny Gwiuwwnbudwé nbwptpnid pwbytpnid hwdw)jGph pynietih dwiwlwlwynp wqun X
dhonglbph wbnwpwotuniihg b nbwnghwGbphg unwgywd wnynuwydwnplbp
1320 |3.2 CwhwpwdhhGbn 7412 X
wjn pynd’
1321 Pwdlbnhpwlw pGytipnepyncbbtipnid hwiw)lph dwubwygnepjwb nhiwg hwiw)lph pjnLok
Ywwnwpynn dwuhwGnidGbip QuhwpwdhGGbn)
1330 |3.3 9nuyph Jupdwywnipynilhg GYwininbGhbp 7415 [888.0 888.0
(innn 1331 + wnn 1332 + wninn 1333 + 1334)
wyn pynid’
1331 Jwdwybph ubthwlwtnipynil hwiwnynn hnntph Jupdwlwinepjw Juipdwddwnbn 388.0 388.0 X
1332 Swdw)bph Jupswlwb nmwpwépntld gunbynn whnwlwb ubithwlywbnipynil hwiwnpynn hnntiph %
Jwndwlwinipjwl ywndwysdwnlbn
1333 Swiwjlph Jwnpswlywb tmwpwépnid gnbynn whwnipjwl L hwiw)lph ubithwywbnipjwlp
wwwywlnn hnnwdwubiph ywenigwwwwndwb hpwyniGph nhiwg qgwGéddnn yupéwydwnlbp
1334 | Wi gnyph wpdwywinipynilhg dntinpbin 500.0 500.0
1340 3.4 3wdwylph pynigkih GlwdnunGbip wypwGpltiph dwwnwlwpwpneihg b 6wrwynipynLGatiph 7421
dwuwnianciha
(nnn 1341 + wnn 1342)
wyn pyntd’
Swdw)bph utithwywbnipynilt hwlnhuwgnn, win pyntd” nmhpwagnipy, hwiw)lphl npwbiu
1341 utithwywGnipnilb wlgwd wwpwlbpltph (pwgwenipjwip hhiGwlwh dheng, ns Gjntpwlwlb Yud X
pwndpwndtip wywnhy hwlnhuwgnn, hGswtu Gwb hwdw)Gph wwhniunGbpnid wywhynn
wwnwipwlintpwbw( wndtipGtnh) Jwdwpphg dntwnpbn
1342 Mbwnncpjwb Ynnihg nbnwlw haplwywrwywpiwb dwpihGabpht ywwnyhpwyyws
JhwgnpnipintGGbph hpwywGwgiwb dwiuubiph Phlwbuwynpiwb hwiwp whwnwyw piniokihg
1350 |3.5 dwpswlwb quGanLibtip 7422 X
(ninn 1351 + wnn 1352 + wnn 1353)
wyn pynd’
1351 Sbnwywh yswnltip
1352 Swiwjlph Jwpswlwb nmwpwépnid hplwlwd ywrenigdwé pt0Gptinh, 2hGnipyntlGhtph %
ophlwlwlwgiwb hwiwn ydwnhbn
Ontlpny uwhiwbdwd nbwptinnid hwdwlpwjhl hhiGwnybbph Ynnihg wnwlg wnbnwlwb wnipph
1353 qwGaiwh dwwnnigynn Swrw)jnipjntGbbiph Ywd Ywwnwnpdnn gnpdnnnipyntGGbph nhiwg unwgynn X
(qwGd&ynn) JswnGtip
1360 |3.6 UnLwnphip wnydtiphg, inniqupGiiphg 7431 X
(nn 1361 + wnn 1362)
w)n pyntd’
1361 dwpswlw hpwlwfuwhunnidGeph hwdwp nbnwywb hGplwywrwywndwb dwpdhGatph Ynnthg X
wwwnwufuwlwwynipjwl dhongltiph Yhpweniihg GYwdniinGbip
1362 Untinptip hwiwjGph pjnipbip Gundwdp unwGdiwd ywydwlwagpuwiht wwpwwynpnipjntGabph
sUwwnwpiw nhiwg quGdynn wintjdlinhg
1370 |3.7 LGpwghy ng yuwzwnnbwlywl npwdwinphltp 7441
(ninn 1371 + wnn 1372)
wyn pyntd’
bhghywlywl whéwhg L yuwqdwytpwnepniGbtiph GdhpwpbinnipyntGhg hwiwGphG, ytpehGhu
1371 GOpwlw pyniptitnwjhlG hhdbwnyGtiph wGophGdwGh wlgwé gnuph (hhdGwywb dhong Ywd ng X
Oyntpwlywb wywnhy shwinhuwgnn) hpwgndhg b npudwywa dhengltinhg plpwghy dwiuutiph
ShOwluwdnniwb hwdwn hwdwilpeh pinteb unwadwd dnunpbn® wnwdwnndwé wnnwphl
bhghywlywl whéwhg L yuwqdwytpwnepniGbtiph GdhpwpbnnipynitGhg hwiwGphG, ytpehGhu
1371 GOpwlw pyncptitnwjhlG hhdbwnyGtph wGophGdwh wlgwé gnuph (hhdGwywb dhong Ywd ng X
Oyntpwlywb wywnhy shwanhuwgnn) hpwgnihg b npudwywa dhengltinhg plpwghy dwiuutiph
ShOwluwdnniwb hwdwn hwdwilpeh pinteb unwadwd dnunpbn® wnwdwnndwd GGnphG
1380 |3.8 Uwwhww) ns wwwnnlwlwl npwiwGnphlbp 7442 X
(wnn 1381 + wnn 1382)
wyn pyntd’
Lyhpwwnynipjwl, dwnwbgnipjwl hpwdniGpny $hghyulwb whdwbghg b
JuaqiwytipwnipynbGtphg hwdw)bphb, ytipghGhu Gopwlw pjniobiinwihlG hhdGwnpybGbph nbGophGiwbh
1381 whgwé gnuph (hhdGwlwh dheng Ywd ns Gynipwlwl whnhy shwinhuwgnn) hpwgntihg b X
npwiwlwb dhenglbiphg Yuwwhwnw) dwiuutiph $hlwbuwynpiwb hwiwp hwiw)bph pjnipb
unwadwd dninpbn® wnwidwnndwd wnwnwoh0 wnnininGbnha
Lyhpwwnynipjwl, dwnwbgnipjwl hpwyniGpny $hghyuywlb whdwbghg b
JuaqiwytpwnipynbGtphg hwdw)bphb, ytipnghGhu Gopwlw pjnipbiinwihlG hhdGwnpybGbph nbGophGiwbh
1382 whgwé gnuph (hhdGwlwh dheng Ywd ns Gynipwlwl whnhy shwinhuwgnn) hpwgntihg b X
npwiwlwab dhonglbiphg Ywwhwnwy swiuubiph hpwlwlwgiwb hwdwp hwdw)bph pneeb unwgdwé
Ununpbin® wnnwidwnndwé Gbnph0 wnpininGbnha
1390 (3.9 Uy tywdniinGhlp 7451
(inn 1391 + wnnn 1392 + wnn 1393)




(hwqun npwdny)
w nd’
S:lr'hh Blwdnwwnbuwybtipp :inn’:};mh D(T\:ufg)n qwnzuquJUm ZJqHGTILUJhD o
1 2 3 4 5 6
wjn pyncd’
1391 Swdw)bph gntjphl ywwndwewd Yawultiph thnfuhwwnnigniihg dniinptip X
1392 dwpswlw pynepbih wwhniuwnwihG $nlnhg $nlnwjhb pjniot uwwnnwnynn hwinlwgniibtinhg X
1393 é)nhﬁénl{ L hpwdwywb wj whnbpny uwhdwbjwsé™ hwdwlph pynietih dnunpwgniwb Gopwlw wy)

GlwinLinGlp




